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ABIEXI2Y Zel(ABISXI/AE S
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645,459
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114,074
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524,439
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A330,012
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383,940
76,783
307,152

387,600

A3,660

307 212+01 A

HH

383,940
76,788
307,152

387,600

A3,660

OAEI=EXII 2
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OLQI=XIAE

SAR ZX=Z(XH)
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A H

S HLHLEI(E2 32
150,000 x4 =120 &

HH

SMA =X+
151, 1263 «2002 * 128

Ao

383,940

14,040
2,808
11,232

7,200
1,440
5,760

362,700
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290,160

387,600

23,660

MBS XAIE SAHA

ACHEE Ordl X2

A H

2,380
1,190
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307 2I2t01d
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2,380
1,190
1,190
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SAA Holl2E ot

5,000 +476%H
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SN =
I‘IiH:
C,l»ol:

(etel: &)

S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
A EXAMBIA s Y EE 800 900 A100
202 04H] 800 900 A100
01 =2LH0Y| 800 900 A100
OMBI=EX AMblALSE L =8
20,000 2 *x203] 800
KEEXNAIY D8t DA (KGAISIEREOH 2HXIL) 68,660 68,660 0
= 7,200
= 61,460
201 etEAH| 8,660 8,660
01 AF222|BI 8,660 8,660
OXNGASIBEAE (HTE)AAL L 3ol
= 70,0002 %19H 23| 2,660
OSHXIYGANSEEE M S5 XA
1,000, 000& 60 2 6,000
307 212+0| A 60,000 60,000 0]
= 7,200
= 52,800
10 AIRIZ2XAIEEHE2HUIE X 60,000 60,000 0
OXNGSAS2EE AN 243 X
9,000,000&*42 |+ 10 A~ 36,000
= 7,200
= 28,800
OXEANIBHE N &S X (KM=
) 6,000,000&*4ZJ|*x10H A 24,000
SIU=XAY 24 4,500 4,900 A400
201 etEAH| 1,600 2,000 A0
01 AF22:2|HI 1,600 2,000 A400
OSIU=XXIAANY 2H=X
160,000« 102 1,600
202 o4d] 900 900
01 Z2LH0oY| 900 900
OBU=NXAAY Y22
90,000 x 100 & %121 900
203 HRF&IH| 2,000 2,000
03 AMBEFXHRFXIH| 2,000 2,000
OAIS|EX| AMZHAR =K
2,000,000 14! 2,000
SETAMNER =& 5,940 10,240 A4,300
201 Lt AH| 3,540 7,540 A4,000
2 35246l 3,540 7,540 A4,000
OAMNSY e8! dRTEZE 22
120,000 =128 1,440
O0lsd3=2 35,000& x50 =122 2,100
202 o481 2,400 2,700 A300
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S SXEERM
A AMISXSY 22l (ABISR/AE=S XL

= A2 29 EERSED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
01 Z2LHoIY| 2,400 2,700 A300
OSEXAIA SANEE ME AE ZA
20,000& *2ZH x602] 2,400
SLHDIHEE)ES 22 16,500 16,500 0
301 ete X = 16,500 16,500 0
02 MBI ERELGS(FLAHS, KLTHE) 16,500 0 16,500
OSRHI AKX AL
1,500,000& x93 13,500
OR&ol 25| 100,000 *30Y 3,000
MEX| 2] XA 41,719 341,336 N299,617
= 20,860
T 13,892
= 6,967
301 LEtE N2 41,719 341,336 N299,617
= 20,860
& 13,892
= 6,967
01 Al BEE LGS (2DEXZMH) 41,719 341,336 N299,617
OZ2LH19 MEX|2H| X
41,719,000 *14] 41,719
= 20,860
& 13,892
= 6,967
XGAISIEXMAH 2= 121,020 118,500 2,520
= 15,004
= 106,016
MNBZNEOE 2% 2 ABI=AAZ = Ad 75,020 72,500 2,520
& 15,004
= 60,016
201 Lt AH| 2,820 0 2,820
= 564
= 2,256
01 AF222|HI 2,820 0 2,820
OAMEEANE 1S K&
60,0002 *47H 2,820
= 564
= 2,256
307 21201 A 72,200 72,500 A300
& 14,440
o 57,760
10 Al SXAIEEE2HHIEX 72,200 72,500 A300
OAZI=XECs 2&
18,050,000& * 1 | A %42 D | 72,200
== 14,440
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B
Mz AIBIEX2Y Z2I(AIBI=ZXI/AIR S XL
&2 NSAISIEXHA 2= CERED
DA EH B (BH) - MRAY - BAS Ofl vl e MimE=T,
| = 57,760
ols=Extzs 249 12,000 12,000
307 212+0| A 12,000 12,000
11 Al 2XAIHE R 12,000 12,000
Oo0ls =EXE 29X
12,000,000 14 12,000
OlsHIEXE 29 XA 12,000 12,000
307 21201 A 12,000 12,000
11 Al S XA E X 12,000 12,000
O0l= MEXZ 2HXIA
1,200,000& 1000 & 12,000
ASIE2XEos T2 U AlsI=ZAUa M=l 22,000 22,000
307 QI2+0| M 22,000 22,000
11 Al 2XAIHE X 22,000 22,000
OAIZIEXEols T2 )H2d 2 AlS=X|
o=l Jh=l 22,000,000& 22,000
OlsEXl ST (AleI=X/2 IIEL0i) 2,000 3,000 A1,000
= 400
= 1,600
BERAA Ols XA 2,000 3,000 1,000
& 400
= 1,600
CHHEOHY S€XI& 2,000 3,000 1,000
== 400
= 1,600
301 YEtEBNZ2 2,000 3,000 A 1,000
& 400
= 1,600
03 AIS| B XM 452 (X TH) 2,000 0 2,000
ous sE2 1,000,000& x2H 2,000
& 400
= 1,600
H2E H2(AMIIEX/EE) 1,668,866 1,523,026 145,840
& 281,800
= 1,387,006
=) E= 22| € X 1,637,126 1,491,286 145,840
== 281,800
= 1,355,326
=ItR3A 2 E=CH22] 1,324,926 1,325,926 21,000
201 et AH| 900 900 0
01 AtR222|bl 900 900 0
OLictAIiZ s 2AIZ
200,000& x1E *x23] 400
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SN SRE)
HM: 9% d(AI=SX/EBE)
=2 20t E& 22l € NH CERED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
oUeriZng niz ol
10,0002 *50 500
301 YBIENZ 1,116,000 1,116,000 0
03 AlS| 2 & 206 2 (K1 THA) 1,116,000 0 1,116,000
OINR 3K =X 1,116,000
O2=dil=%
150,000 *260ZE x 120 & 468,000
OFHY 4L
150,000 260 = 1200 & 468,000
ORI & IIVIBESUARAIRIZ2
= 400,000 *302 12,000
OEMKBA KX =X+
100,000 * 1408 1200 & 168,000
307 2I2t0| A 200,026 200,026
02 DIZHEAMAIEE R 19,850 19,850
OE=HH Al NA(SERAD)
3,350,000 *1 SHA| 3,350
O=It73X dFRXl Ast N&
1,500,000 & *8EHX| 12,000
OE=HH X=X
4,500,000 *13| 4,500
03 QX HE2GHIE X 180,176 180,176 0
OESHH 2Ydl X2 (8HEHAI)
4,810,000 +8CH x| 38,480
QESCHAl o1yl X (BIHCSHA)
17,712,000 & *8CH K| 141,69
401 AIEHIZL LI 5,000 6,000 A1,000
01 A& 5,000 6,000 21,000
HESH ANEES
5,000,000 x 10 2 5,000
402 QIZHR=201 ™ 3,000 3,000
01 QIZEXH2AFS 2 = (REMIAHR) 3,000 3,000
OR&HA &I X
3,000,000 *14! 3,000
BECH XNE & BEANY FH(SHRISA L 2= 13,000 5,000 8,000
ojZH XIR)
& 2,600
= 10,400
307 2120l A 13,000 5,000 8,000
& 2,600
= 10,400
01 22224l 13,000 5,000 8,000
OSERIX £ 2= 2ZH| K&
1,000,000& *13& 13,000
T 2,600
o 10,400
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SN SRE)

M. B3 HF(AIBI=SX/EE)

&2 20 & 22 € K& CERED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
E;%—‘F_Vﬂ N 2 BEALFA (AL EHEHUS=E X 259,200 117,360 141,840
%

= 259,200
301 Lete X2 259,200 117,360 141,840
= 259,200
01 M BRE LGS (2DEXIM) 259,200 117,360 141,840
oL T EFMHU=H
60,000 *3,000H 180,000
& 180,000
OUT EEHN =Y
60,0002 *1,3204 79,200
= 79,200
B JIsEd XA 40,000 40,000 0
= 20,000
= 20,000
402 QI2HXE01 A 40,000 40,000 0
== 20,000
= 20,000
02 CIZEXH=EALAE R (01 ™ RHR ) 40,000 40,000 0
OB&HH JIsEY K&
40,000,000 =14 40,000
= 20,000
= 20,000
=2IPIEY A 29 31,740 31,740 0
I 29 14,600 14,600 0
Bt AH| 10,000 10,000 0
2l 10,000 10,000 0
& SHAMH| 6,500,000 *1J0 2 6,500
& FOH M2
3,500,000& 14! 3,500
HIE8 &= 4,600 4,600
FAHI X &2 4,600 4,600
a3 25 24 8,000& %2004 1,600
A AL SHI BA=2
500,000 & 60 2 3,000
SEY SAI 29 12,040 12,040
201 LetE2AH| 3,000 3,000
03 A2 I 3,000 3,000
O =Y A 3,000,000& *13] 3,000
301 Let8d 3 4,040 4,040
11 HAFAHI X &2 4,040 4,040
O EY A RESA 8,000 *380H 3,040
OSEY Al EAL BA=2
250,000& #4 1 A~ 1,000
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2A:

=)
HH: s MOH(AE=X/EE)
el P8 HAL 29 CEREED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
401 Al2HI L 20| 5,000 5,000
01 Al 5,000 5,000
CEENERCIERS
2,500,000 =200 A~ 5,000
6.25 JIS8At 2H 5,100 5,100
201 LBt2AH| 3,500 3,500
03 A2 I 3,500 3,500
O6. 258 DG AL 3,500,000& * 10 A 3,500
301 Lete N3 1,600 1,600
11 #HAFABIXIR 2 1,600 1,600
06.25HF J|FHAl BATHRIISSIH2A
8,000& x200H 1,600
NASE MEOHN TIRAAS (AISI2X /| ZMEEE 749,386 648,012 101,374
= 235,905
iy 244,917
= 53,740
= 214,824
NASS XEXSAS 663,236 570,612 9,624
= 187,000
fag 244 917
T 53,740
= 177,579
222X XJAI 233,250 216,250 17,000
= 187,000
= 23,125
i 23,125
301 el 3 233,250 216,250 17,000
= 187,000
° 23,125
= 23,125
01 AR BRE LGS (2DEXTM) 233,250 216,250 17,000
o2lg SXXE A
2,332,500&«1000+ 72 233,250
= 187,000
& 23,125
= 23,125
KETEE MSIMEIA EXFANS (KD AFS HHIAS XA 302,040 277,2%6 24,784
2 XY, 2| X&)
iy 241,632
= 30,204
= 30,204
201 LBt AH| 2,800 3,500 A700
Pag 2,240
& 280
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2A:

NE: HASS MO NEAY AKX/ ELEDT)
= MASE NEXE AL EERSED)
M- B BRI(3) - AR - BaS Ol ko4 e HimE=]
= 280
01 Ar22teldl 2,800 3,500 AT700
ONATEE ABIHHIA SXAIS 2L
233,333+ 1201 = 2,800
rax 2,240
= 280
= 280
307 glzto| s 239,240 273,256 25,984
= 239,392
= 29,924
= 29,924
05 BIHRE S 299,240 273,25 25,984
OXIATSE AEIAEIA SXAY
299,240,000+ 14 239,240
s 239,32
= 29,924
= 29,924
NASE HLEER UHE 123,840 73,000 50,840
301 LetENZ 123,840 73,000 50,840
02 AFBIEERGS(HLAHE, RLMWA) 123,840 0 123,840
ONASHO HUBEZ Y
8,600& *1,200MICH* 123 123,840
KNAXEE AISIMEIA ENASE (HEOISAHZ KIE) 4,106 4,106 0
s 3,285
& 411
i 410
307 BIZto| ™ 4,106 4,106 0
= 3,285
T 411
= 410
05 RIZF2EHS 4,106 4,106 0
OFIHOIBAL XA Aritl
342,166« 1201 & 4,106
Fas 3,285
= i1
= 410
LIIIArl 22 Ot K& AL 86,150 77,400 8,750
= 48,905
= 37,245
A7 SeAtdI2tel K& 15,000 15,000 0
= 7,500
i 7,500
201 LA 6,500 6,500 0
= 3,250
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2A:

X ZH -
o=

Sl SDIARIZRIIIR KA (crel: 2
S H - BR(S) - MSAY - B2 ol by e MmE=}
= 3,250
01 At2222lbl 6,500 6,500 0
OAtdI2te] 249hI 448,333 12& 5,380
2 2,690
2 2,69
RV VL LIRS
70,0003 x8H *23| 1,120
= 560
= 560
202 04d| 1,000 1,000 0
= 500
= 500
01 2LHoL| 1,000 1,000 0
OSEAtAIZEIAF W Y|
200,000& *121x55] 1,000
= 500
= 500
301 LetE X3 7,500 7,500 0
= 3,750
= 3,750
01 AR BEE LGS (2DEZME) 7,500 7,500 0
OAtd| 22l AlY S LA
1,875,000%4 3] 7,500
= 3,750
i 3,750
SHs UEFY SEMBIA K& 59,150 50,400 8,750
= 41,405
= 17,745
201 B3| 21,750 15,422 6,328
= 15,225
= 6,525
01 At2222|H| 21,750 15,422 6,328
OAtell2e 29 X2 (322, WS
s) 3,625,000 61 S 21,750
= 15,225
= 6,525
202 O4H] 1,400 1,050 350
= 980
= 420
01 Z2LHodY| 1,400 1,050 350
OSEAHHIZEIAF WS OH|
100,000&x221x73| 1,400
= 980
= 420
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2A:

I‘I ZH

SXIEZL

HASE Mzl

B XML (ASISX /I =MEEE)

chel: ?IDIM&MEIDH‘ NP (B9l F2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
301 Lt XM= 36,000 33,928 2,072
= 25,200
= 10,800
01 A BRE LGS (2DEXTME) 36,000 33,928 2,072
OAHEIIZ2tEIAFY RIRH| (S 2], M X K|
g) 6,000,000 *61 == 36,000
= 25,200
= 10,800
DA 22| D K 8,000 8,000
401 Al HIL L 0HY] 8,000 8,000
01 Al&H| 8,000 8,000
ORIJIAHIZel HADI BHEINA
8,000,000* 14! 8,000
Pt EXNEA 29 4,000 4,000
201 et 4,000 4,000
01 AF222|HI 4,000 4,000
QelEa(AFE30) M S
4,000,000 *14] 4,000
LOIEX S&(ASIEX]/ 201 - HAH) 37,577,840 35,256,610 2,321,230
= 24,576,174
Fag 792,495
J| 260,464
= 2,380,442
= 9,568,265
L5 MEgE 31,134,904 28,370,3% 2,764,508
= 24,432,153
iy 781,495
J| 260,464
& 986,300
= 4,674,492
LoISX#HAESS 20,510 20,810 A300
201 LetEAH| 1,000 5,500 24,500
03 A2 HYI 1,000 5,500 4,500
OLo=XEAI E2 & 2E7Y
100,000& * 103/ 1,000
202 o4d| 800 900 A100
1 2LHoIH| 800 900 A100
OLI=RIHAF FEOHI
100,000 4 H x23| 800
301 ete ™= 1,710 1,710
11 HAMAHI KR 2 1,710 1,710
ONHOIY JIEsiAL & & SHAF &D}
85,500& *20H 1,710
307 2I12+H0| A 17,000 12,700 4,300
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SN =SRE)}
MM LoI=2X SE(ASIEX/ =0 - HAd)
Rl =2 4228 (el & L)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
11 AISI2XAIEE X 17,000 12,700 4,300
ouet=2lg A XI& 17,000
O LololL #AL U 2B O{ZAIB}
& &t 166,666 *60 10,000
OLd H2E T2 ) 23 &It
40,0002 *50H 2,000
O%Q2l HOIEEWU3| &It
100,000& *20H 2,000
OIS XA &I K&
750,000& %4 3| 3,000
Lolo] I dHAZY 15,000 10,000 5,000
307 21201 A 15,000 10,000 5,000
04 DIZ2FSHAIAIE E X 15,000 10,000 5,000
OO0l & AL 15,000,000& *13] 15,000
Jxd2 X2 24,855,106 22,076, 164 2,778,942
= 22,370,604
& 497,125
= 1,987,377
301 Lete N2 24,855,106 22,076, 164 2,778,942
= 22,370,604
& 497,125
= 1,987,377
01 AR BEELHS(2DEXZMH) 24,855,106 22,076, 164 2,778,942
(OPJESSE=INE:] 2,071,258,833&3 128 24,855,106
= 22,370,604
= 497,125
= 1,987,377
Lol 32320 XA 9,360 11,040 N 1,680
& 432
= 8,928
301 LEtBNZ 9,360 11,040 A 1,680
= 432
= 8,928
03 A8l B E 4562 (XY TH) 9,360 0 9,360
O&x=2== X 20,0002 x9H =122 2,160
& 432
T 1,728
O4MICH Ol&F DHE &&=Y X
100,000 *6MICH* 128 7,200
SOl LXe|AIS 4,343,598 4,459,145 115,547
= 2,061,549
== 386,366
= 1,895,683
307 2I12+0|A 4,343,598 4,459,145 A 115,547
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SN =SRE)}
M. LoI=X SA(ABISKI/ =0l - HAH)
Rl =2 4228 (el & L)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
= 2,061,549
& 386,366
o 1,895,683
1 AESXAIEE X 4,343,598 4,459,145 A115,547
O=olT2l L NIBEXBMY BolBS
3,150,0002 1, 140X 3,591,000
= 1,795,500
& 359, 100
= 1,436,400
QLoldXtel Y ASIESKIZ ALY A2l A
A 7,931,020 x34H 269,655
= 134,827
= 26,966
= 107,862
OLoldiel & AIBESAJAY FPdH
=] 150,000 *20H 3,000
= 1,500
T 300
i 1,200
oxolgiiel & AteIEsXJAAY =aD|2
Mol (HRMHBIZE)
28,827,000 x9H 259,443
= 129,722
= 129,721
OLoldRiel & AMIESKZAY SUES
(ZF=JF M) 3,150,000& *70& 220,500
MNAS THOHEQl AAHE 76,525 60,228 16,297
307 2IZH0| A 76,525 60,228 16,297
11 ABISXIAMEE R 76,525 60,228 16,297
OMAS THIHZO! AJAMHHE
1,034, 1202 %74H 76,525
BEAYR S ZA 40,000 43,750 A3,750
307 2I12t0| N 40,000 43,750 A3,750
11 Al S XA E X 40,000 43,750 A3,750
oFRAL 2234
2,500 x64H #2502 40,000
(FILE)100MIAITH o2 4l LXtel 2,400 2,400 0
& 1,200
= 1,200
307 2I2H0| ™ 2,400 2,400 0
& 1,200
i 1,200
11 AFSISXIAME X 2,400 2,400 0
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A SN
I LoI=X| BA(ASISX/ 0l - HAE)
o =% 4253 (EHel: & 2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
O(FILE)100MAITHE HE A LX2IAFE (HIE
I HSH U SN
200,000& x12& 2,400
= 1,200
= 1,200
LoloIESd & &2 10,000 10,000
307 21201 A 10,000 10,000
11 AISI2XAIEE R 10,000 10,000
A= AR 10,000,000& * 1A 10,000
SHLOIESSEMC! SSOHEOAAHIA X 103,7%4 89,518 14,276
hag 51,897
= 10,379
= 41,518
307 212+0| A 103,794 89,518 14,276
rag 51,897
= 10,379
= 41,518
11 AL S XA E X 103,7% 89,518 14,276
OSH-QAEZRHQl STOHTQHAAHIA
103,794,000 * 14! 103,7%
iy 51,897
& 10,379
= 41,518
ST M AHIA 22X HRMHS =& 3,600 3,600 0
= 720
= 2,880
307 BI2+0| ™ 3,600 3,600 0
= 720
= 2,880
11 AIBIEXIAIEEX 3,600 3,600 0
OSZAUHEAMAHIA 2|k HRME =S
150,000 x2H x 12 3,600
& 720
= 2,880
100 MIAICH 0241 LX2IAIE (2RAD12) 520,928 503,040 17,883
J| 260,464
= 260,464
307 2I12+0| A 520,928 503,040 17,888
J| 260,464
= 260,464
11 AISIEXIAIEE X 520,928 503,040 17,888
O(BUE)I00MAILE HEALRI2IAIE (2A
138) 2= 3, 150,000& *156H 491,400
J| 245,700
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SN =SRE)}
MM LoI=2X SE(ASIEX/ =0 - HAd)
o =% 4253 (EHel: & 2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
2 246,700
O(Z&)100KIAICH 2 AYXIZIAIS FEh
QI (QIAHH| &) 29,528,000& x14] 29,528
J| 14,764
= 14,764
Lolgrs AHIA R A 1,042,283 983,901 53,382
iy 729,598
= 62,538
= 250, 147
307 21201 A 1,042,283 979,301 62,982
iy 729,598
= 62,538
= 250,147
TREEYNEEES 1,042,283 979,301 62,982
OLoINESZHYIA
1,042,283,000 & * 14! 1,042,283
Fag 729,598
T 62,538
= 250, 147
UE=SSMUIA SAHA} ESs2X =2 91,800 91,800 0
L= 27,540
o 64,260
307 2I12+0| A 91,800 91,800 0
= 27,540
= 64,260
11 AISIE XA E X 91,800 91,800 0
OABESBAUIA BAX BEEE 25
150,000 x51H = 122 91,800
= 27,540
= 64,260
Lol SXAIE K& 6,442,936 6,886,214 N443,278
= 144,021
hag 11,000
= 1,394,142
= 4,893,773
LOIMEIAE 2HAIA 3,859,170 4,480,130 A620,960
& 1,209,249
= 2,649,921
301 Bt NZ2 3,859,170 4,480,130 620,960
& 1,209,249
= 2,649,921
01 MBI ERELHS(2NEXZM) 3,859,170 4,480,130 620,960
OMI}t AEI0iIE R
5,762,688 x250H x 14 1,440,672
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SN =SRE)}
M. LoI=X SA(ABISKI/ =0l - HAH)
o2l Lol =XAE X# (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
QA4 o220iHI8 Y3
9,486,922 x250H « 1A 2,371,748
& 1,185,874
= 1,185,874
OLQCIMEANAE S5t XIEZ2
23,375,000 «2H+ 14 46,750
= 23,375
= 23,375
Mot EoI=XAE 29 480,000 480,000
307 BI2H0| ™ 480,000 480,000
10 AlBISXAEEHE2IHIEX 480,000 480,000
QI CIXI MBI A
120,000, 000& *4JH 2= 480,000
Lol=x2 29 754,383 730,201 24,187
307 2I2t0|1 A 748,948 694,201 54,747
05 212t EZ 748,948 694,201 54,747
QLA LoI=N2 23
92,182,000 *1JH 4 92,182
oYL = 2ISK|2 21|
615,186,000 & *10H A& 615,186
OYAZLOISXZ Z2 0 29
41,580,000+ 14 41,580
401 A& HIZ 20| 5,440 5,440
01 A& I 5,440 5,440
oOYAR LTI 2 B4 BAHIZAY, g
ESg= 5,440,000% 14 5,440
Lol Atsl s NIA 188,964 138,562 50,402
201 LBt2AY| 2,480 2,100 380
01 Ar22teldl 2,480 2,100 380
OLUT 0l5]2t ALOHM 22|
165,000 123 1,980
o= Lol JASAMNER 2|
500,000 * 14 500
301 YeEN= 84,000 84,000
14 J|Et2 43 84,000 84,000
OLUZ Lol XNASAMXCH &SH|
10,0002 *3AI2H+ 140 x20 84,000
307 2I2t01 A 102,484 91,462 11,022
10 S SXANEHE2EHIE X 102,484 91,462 11,022
owols 2L
6,000,000 %17 2 6,000
Ot ols| el K&
66,484,000 =101 2 66,484
ogtolsl 244l X3
30,000,000 * 104 2 30,000
Z2E2Y 435 X 98,918 86,540 12,378
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2 ST
M. LoI=X SA(ABISKI/ =0l - HAH)
o2l Lol =XAE X# (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
201 Yr2et| 38,808 36,300 2,508
2 IZ=2H| 38,808 28,200 10,608
OANIEAZY SAlH| X2
23,1003 * 1400 A+ 123 38,808
307 RIZHOI A 60,110 50,240 9,870
TNEENEEES 60,110 50,240 9,870
ozzg PEz X
149, 25321« 1347 &~ 20,000
OZ=2Y 2t Mz 25 A
18,0002 x 1400 2+ 128 30,240
OLoZ 23 70,0003 *14100 2~ 9,870
d2Y 29 243 N (F2Y 294 X&) 659,300 462,800 196,500
= 126,060
= 533,240
307 21201 A 659,300 462,800 196,500
& 126,060
= 533,240
10 Al2|SXAEHE2ZHIEx 524,300 426,350 97,950
0Z2Y =3 S22l
875,000 6 L +42 T | 21,000
OZ2Y 29| 123,825,000 *4= D | 495,300
T 99,060
= 396,240
OZ2Y 2EHI(FIF XHMME)
40,0002/ +200H 8,000
11 ASISXIAMSE X 135,000 36,450 98,550
OZ2Y T2 29H|
135,000,000& =14 135,000
& 27,000
= 108,000
Z42Y 29 2435 N (Z2Y sl 2|kt 37,744 35,213 2,531
x2)
& 7,043
= 30,701
307 21201 ™ 37,744 35,213 2,531
= 7,043
= 30,701
10 Al SXAEHE2IHIE X 37,744 35,213 2,531
OdzY TolZz 32X M|
2,531,000&*1H 2,531
OdzY &=3lZz 3 22Xt XA
2,934,416 1B+ 122 35,213
& 7,043
= 28,170
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SN =SRE)}
MM LoI=2X SE(ASIEX/ =0 - HAd)
= ol SXAE X3 EERSED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
LO0BiEA ¥ SRat ME(Lollst 2% T2 4,410 4,410 0
Hl X&)
= 882
= 3,528
307 212+0| A 4,410 4,410 0
= 882
= 3,528
02 QI2FBAAH B R 4,410 4,410 0
OLoltis T2 YK
4,410,000& =100 2~ 4,410
& 882
= 3,528
LOIMEIN Y DIsE2 22,000 0 22,000
Fag 11,000
= 7,700
= 3,300
402 BI2EXH20| A 22,000 0 22,000
Fay 11,000
& 7,700
= 3,300
02 CIZIXHE AL E (0| ™TH ) 22,000 0 22,000
OLQIQOAIM (CTV XIR (MXIHI)AY
22,000,000& 14! 22,000
fag 11,000
& 7,700
o 3,300
HE2G dutgiy] & ek=d| XI|(=21) 283,042 274,758 13,284
= 144,021
= 43,208
= 100,813
301 Leted 3 7,242 35,358 AN28,116
= 3,621
= 1,088
= 2,533
01 AFR| BRI E LGS (2DEXMH) 7,242 35,358 N28,116
odzY A=K 53,6442 *135JH A~ 7,242
= 3,621
T 1,088
= 2,533
307 21201 A 280,800 239,400 41,400
= 140,400
T 42,120
= 33,280
10 Al SEXAEEE2IHIE X 280,800 239,400 41,400
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SN =SRE)}
M LolsX ZSA(ABSX/ ol - Had)
eelr =0 SXAIE X3 (He|: A 2)
S - BB - SIS - HRMY - BES Ol &t e HIDS2
oZzg LA
230,000 %1357 2 31,050
= 15,525
= 4,658
= 10,867
0Z=z=g HEHIXE
1,850,000 13500 4~ 249,750
= 124,875
& 37,462
= 87,413
Z2Y JIsE2 XA 50,000 83,600 233,600
402 RI+X=0] & 50,000 83,600 A33,600
01 RIS AL 2R (XA ) 50,000 83,600 233,600
OZZ2E JIsEZAMY
2,000,000 * 1504 £ 30,000
OZ2Y 2ES WM A
1,000,000 *200H 2~ 20,000
ZR22|(AE SR/l - HAaH) 401,969 252,369 149,600
TANE 2F 22 401,969 252,369 149,600
SERA 29 381,969 232,369 149,600
201 L2 HH| 124,969 131,369 26,400
01 AtR2telbl 89,369 88,769 600
OUH&EHl ¥ A=t 1,496,880 #5570 | 82,329
O34R € Sotd 28 22357
2,500, 0003 +27H A 5,000
o=etE W8 EH 120,000& =122 1,440
O3%% U=l 300,000& x2H 600
02 82l 35,600 42,600 A7,000
O3LBN(S2E) 3323
1,200,000&+12& 14,400
O3ty etdzte| KX
200,000& x12& 2,400
o8ty g=2gs)l SAEs
900,000& * 12& 10,800
O3£RE € SotE =i 2
2,500,000 *2JH 2 5,000
oxgxte FAI2elH
3,000,000 *14! 3,000
301 LBtENZ 72,000 64,000 8,000
03 MBI EHAE=6IS (KILHRA) 72,000 0 72,000
O3ta Fel XE3 400,000 180 72,000
401 AIZHIL SO 185,000 22,000 163,000
01 Al&£H| 185,000 22,000 163,000
OBLRE Ax 2Z SA
150,000,000 & 14 150,000
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2A:

SXIEZN

I IOV (MBS /=2 - HA)
o2l ZAAE 29 z2tel CERED
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
0242 sod B4 o =HFYl X8
o 35,000,000 14! 35,000
oA 20,000 20,000
301 YEENZz 20,000 20,000
14 JIEL2 A2 20,000 20,000
oFANT 2Y T2
200,000 *1007| 20,000
=01 J|ZME BH(MIAEX DI ZMELH) 7,614,760 7,466,542 148,218
= 5,922,615
= 58,065
& 670,498
i 963,582
DI S = NN b 7,614,760 7,466,542 148,218
= 5,922,615
oy 58,065
= 670,498
i 963,582
MASH 5,512,000 5,398,000 114,000
= 4,410,000
T 551,000
i 551,000
301 LetENZ 5,512,000 5,338,000 114,000
= 4,410,000
& 551,000
= 551,000
01 AIBI2EAE2(RREER) 5,512,000 5,338,000 114,000
OMIAH=N 5,512,000,000& 14 5,512,000
= 4,410,000
= 551,000
= 551,000
M= =107 10,132 7,803 2,329
308 AHXIEHMSO0I ™ 10,132 7,803 2,329
08 WFI| 202 = 10,132 7,803 2,329
OXIXIHMBEZ 10,132,000 *12| 10,132
SHAHEHI= 0 42,500 45,000 A2,500
= 34,000
= 2,550
= 5,950
301 YBIENZ 42,500 45,000 A2,500
= 34,000
= 2,550
= 5,950
01 Al 2&X2H2(ZRNEETHE) 42,500 45,000 22,500
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fA:

=]
=
Zu: =

0l D|ZME BR(AISISX /I ZMEEH)
S J|IZMESEARSZA AR CERED
S H - BR(S) - MSAY - B2 ol by e MmE=}
Ot A HZ0 10,625,000& 42| 42,500
= 34,000
= 2,550
i 5,950
222 NANBHE 2 BANBUEH2Y(HE22 1,508,230 1,512,840 A4,610
X))
= 1,206,590
T 90,490
= 211,150
307 2I2+0| & 1,508,230 1,512,840 4,610
= 1,206,590
= 90,490
e 211,150
11 AIIS XA E X 1,508,230 1,512,840 A4,610
OXE2Z A 377,057,500 427 1,508,230
= 1,206,590
= 90,490
2 211,150
222 NANEHE L ZBANSUE 2(N2 T 250,917 239,545 11,372
MEH 29)
= 175,642
e 75,275
307 QI2+0| & 250,917 239,545 11,372
= 175,642
= 75,275
10 Al SAIAIEEE2IHIE X 250,917 239,545 11,372
OXgGXEHEH 29
62,729,250 +4=D| 250,917
= 175,642
i 75,275
KETES ALBIAHIA SXAI (OFARIE 82 XH) 72,581 91,250 18,669
iy 58,065
= 7,258
e 7,258
307 BI2+0| & 72,581 91,250 18,669
iy 58,065
& 7,258
= 7,258
05 QItRAEZ 72,581 91,250 18,669
OMASEERA OHARIEE20])
18, 145,250& x42 D | 72,581
iy 58,065
= 7,258
= 7,258
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2A:

I 200 )| FME PER(ASI/IIFLEDE)

S J|IZMESEARSZA AR CERED
S H - BR(S) - MSAY - B2 ol by e MmE=}
ZCHI2 A 40,000 42,000 A2,000

307 2I2+0|M 40,000 42,000 A2,000
11 AISIEXAIEE X 40,000 42,000 A2,000
oXxcY3y 2 40,000,000 *1IH A~ 40,000

HASE SYXd(xae 212XE) 36,000 18,000 18,000
= 18,000
= 18,000

301 et ™3 36,000 18,000 18,000
& 18,000
= 18,000

01 AR ERELHS(2DEXTMH) 36,000 18,000 18,000
Oxtats 28X& 1,000,000& *367 36,000
& 18,000
= 18,000

2254 UAs 29 €232 N (3,2, HY, 3 91,684 81,689 9,99

SIS SE, HENSHA

= 73,347
= 18,337

307 2I2+0| & 91,684 81,689 9,99%
= 73,347
= 18,337

11 A ZE XA E X 91,684 81,689 9,99
OIS SE 178,583 = 12012 2,143
= 1,714
= 429
03U SSER? 46,8332 x 1204 562
= 450
= 112
oo I=2sE 271,333 x 1201 & 3,256
= 2,605
o 651
oUW IS SE 156,250 = 1201 & 1,875
= 1,500
= 375
[(OESISPSEY:IES) 332,583 x 1201 & 3,991
= 3,198
P 798
O3 2 M= H EH 827,333&* 1201 & 9,928
= 7,942
= 1,986
O3 H=ZH E2 1,536,416& x 1201 = 18,437
= 14,750
= 3,687
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2A:

=]
=
Zu: =

0l D|ZME BR(AISISX /I ZMEEH)
SR JIZMEBELZA XA CERED
SA - FH . S(3) - MSAY - BAS 0l Ak o e MmEST
OHEUHWLMEH TR 0I5
769,083& * 1201 = 9,229
= 7,383
= 1,846
OHEIUWLMSHEH (XA =1
3,521,916« 12012 42,263
= 33,810
= 8,453
g A Y=ol X 23,036 22,735 301
= 23,036
201 LBHE2IH| 23,036 22,735 301
= 23,036
01 AtR22|BI 23,036 22,735 301
QX I = 2eld|(EHiHl)
5,759,000& 4= 23,036
= 23,036
NLMEDEHARAG] 2H 1,680 1,680
201 LBr2HH| 1,680 1,680
01 AtR22|bI 1,680 1,680
OIS 2Y9 70,0003 x6F 43| 1,680
NHEAISE AAD |2 2235 X3 6,000 6,000 0
& 1,200
= 4,800
307 21201 A 6,000 6,000 0
= 1,200
o 4,800
11 AISI XA E R 6,000 6,000 0
ORXEAIY AAD|2 k235t XA
6,000,000 *14] 6,000
= 1,200
= 4,800
KNS XEHE S X3 20,000 0 20,000
307 21201 A 20,000 0 20,000
10 AFSISXIANEEE2IHIBX 20,000 0 20,000
OXIGREHEH 2E XA
5,000,000& 11 A *43] 20,000
HNSHBH(SX™-Z W) (JIEHIIE) 305,645 341,842 N36,197
= 50,814
= 254,831
oIAHH|(SXIH D) 257,767 288,196 230,429
= 50,814
= 206,953
QIHARAH| (2RI F =) 99,619 101,893 N2,274
101 o144 99,619 101,893 N2,274
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N
Mz HHSHAH|(SXAEZ)(DIEHIIE
S9l: QS| (SX D) (ool &2
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
01 2 84,112 83,463 N4, 351
O=1U=2PE 10,9523 * 164 #480 A1 2t 84,112
03 2RI (RIHX)2ZXE 15,507 13,430 2,077
ozgRY B 16,507
OxUIS4Y
14,2003 #2140 Al 24+ 150% 5,964
OfYRR4g
13,6002 %22 #1124 +150% 3,749
OFYILSH(BLHHE)
113,600 x2H 51 +50% 5,79
SerAtdI 22| AF o1 K& 101,628 133,266 A31,638
= 50,814
= 50,814
101 2124H]| 97,308 127,506 N30, 198
= 48,654
= 48,654
03 2LI(RIH) 22 RE 97,308 127,506 A30,198
OSE At &2l AL Q12A4H] XI& 97,308
Pl 2,474, 4701x301x 122 89,081
2 44,541
2 44,540
SENEE RS
14,8482 x10A| 2+x301x 12& 5,346
= 2,673
= 2,673
OERZHEYE2 960, 186x3H *13| 2,881
= 1,440
= 1,441
202 04d] 4,320 5,760 A 1,440
= 2,160
= 2,160
01 2LH0Y| 4,320 5,760 A1,440
O=&0H| 120,000%3& * 12& 4,320
= 2,160
= 2,160
SEHAFAIZ2IAF o1248] X (KEA) 56,520 53,037 3,483
101 1244 40,320 39,258 1,062
03 BRA(LINHL) 22X %= 40,320 39,258 1,062
OS&E At ZCIAF Q12AH] K= (XHA) 40,320
Od=2a4 1,200,000 321 x2& 7,200
OHESIIHI 1,400,000 *x301 22 8,400
OxRaE 140,000& x321x 128 5,040
O&dH==Y 110,000 301 x 12& 3,960
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